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HISTORY OF INDIA (1707-1950)–I

Semester–III

(Dec–19)

Time Allowed : 3 Hours] [Maximum Marks : 75

Note : Attempt two questions each from Sections A

and B carrying 12 marks each and the entire

Section C carrying 27 marks.

SECTION—A

1. Discus the causes of the downfall of the Mughal

Empire after the death of Aurangzeb. 12

2. What were the causes of the Battle of Plassey.

12

3. What do you know about the social and religious

causes of uprising of 1857? 12

4. Discuss the origin and growth of Brahmo Samaj.

12

SECTION—B

5. Give an brief account of the Agrarian Policies of

the British in India. 12

6. Describe the Home Rule Movement. 12

7. What were the circumstances leading to the

Jallianwala Bagh Tragedy? 12

8. What do you know about the salient features of

the Indian Constitution? 12

SECTION—C

9. (a) Write short notes on :

1. Bahadur Shah

2. Mir Jaffar

3. Cornwallis Code

4. Rani of Jhansi

5. Two Aims of Singh Sabha
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6. Arms Act

7. Rowlatt Act

8. Constituent Assembly. 8×2=16

(b) Map Question :

Show the British India on 1805 A.D. on the

map of India with explanatory note.

Or

Show the Important Centers of the revolt of

1857 on the map of India with explanatory

note. 7+4=11

(For Blind Candidates in lieu of Map)

Write short notes on any two :

1. Black Hole Tragedy

2. Grand Cartridge affair

3. Five Mahayanas

4. Fundamental duties by Indian

Constitution. 5½×2=11

PUNJABI VERSION

not : Bwg A Aqy B ivcoN do-do pRSn kro[ hryk pRSn
dy 12 AMk hn[ Bwg C swrw kro[ ies dy 27

AMk hn[

Bwg—A

1. AOrMgjyb dI mOq qoN bwAd mugl swmrwj dy pqn
dy kwrnW aupr crcw kro[ 12

2. plwsI dI lVHweI dy kI kwrn sn? 12

3. 1857 dI bgwvq dy smwijk Aqy Dwrimk kwrnW bwry
qusIN kI jwxdy ho? 12

4. bRhmo smwj dI auqpqI Aqy ivkws aupr crcw
kro[ 12

Bwg—B

5. AMgryzW dIAW Bwrq ivc ikRSI sbMDI nIqIAW dw
sMKyp ivc vyrvw idE[ 12
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6. hom rUl AMdoln dw vrxn kro[ 12

7. jilAWvwlw bwg Gtnw vl lY jwx vwly hwlwq kI
sn? 12

8. BwrqI sMivDwn dIAW muK ivSySqwvW bwry qusIN kI
jwxdy ho? 12

Bwg—C

9. (a) sMKyp not ilKo

1. bhwdur Swh

2. mIr j&r

3. kwrnvwils kof

4. JWsI dI rwxI

5. isMG sBw dy do audyS

6. Awrmz AYkt

7. rOlt AYkt

8. sMivDwink sBw[ 8×2=16
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(b) nkSw pRSn :

Bwrq dy nkSy aupr 1805 eI: dw swmrwj
idKwE Aqy ivAwiKAw leI not vI ilKo[

jW

Bwrq dy nkSy aupr 1857 dy ivdroh dy mh`qvpUrn
ky Ndr idKwE Aqy ivAwiKAw leI not vI
ilKo[ 7+4=11

(AMn y N ividAwrQIAW leI nkSy dy
bdly ivc)

iksy do 'qy sMKyp not ilKo :

1. blYk hol durGtnw

2. crbI vwly kwrqUsW dw mwmlw

3. pMj mhWXwn

4. BwrqI sMivDwn duAwrw imly mOilk krq`v[
5½×2=11


